



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} =$$



नाम: _____

दिनांक: _____ स्कोर: _____

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{3}\right) = \frac{19}{48}$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{5}{6}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \left(-\frac{11}{2}\right) = \left(-5\frac{1}{2}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(\frac{1}{2}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{3}{4}\right) = \left(-\frac{59}{100}\right)$$

$$\left(\frac{2}{5}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \frac{13}{4} = 3\frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{149}{6} = 24\frac{5}{6}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{6} = \frac{29}{150}$$

$$\left(\frac{1}{6}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \frac{28}{5} = 5\frac{3}{5}$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{215}{6} = 35\frac{5}{6}$$

$$\left(\frac{3}{5}\right)^2 + \left(-\frac{1}{3}\right) = \frac{2}{75}$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{6}\right)^{(-2)} + \left(-\frac{1}{3}\right) = \frac{107}{3} = 35\frac{2}{3}$$

$$\left(-\frac{2}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{49}{150}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{6}\right) = \frac{7}{36}$$

$$\left(\frac{1}{3}\right)^{(-1)} - \left(-\frac{1}{2}\right) = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$